HW - Scientific Notation

Name_________________


I.  Convert the following into scientific notation.

____________________ 1)  0.00000000000000345

____________________ 2)  3,405,000,000,000,000

____________________ 3)  0.000045080


____________________ 4)  6,786,400,000,000

II. Convert the following into decimal notation.

____________________ 1)  5.74 x 1012


____________________ 2)  6.00 x 108
____________________ 3)  3.2022 x 10-5


____________________ 4)  2 x 10-9
III. Calculate the following.  Make sure your answer is expressed in scientific notation and has the correct number

       of sig figs.

1)  0.006 x 0.002 x 0.005 = 



2)  (2.33 x 105) (8.0 x 107) = 

3)    
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9)    3.44 x 10-9 MB + 7.33 x 10-10 MB = 

10)  1.673 x 10-24kg +  9.108 x 10-24 kg = 
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